We from www.A-PDF.com to remove the waterr@
CZ

Part list ABG — CG260 E

Poz | Objednaci ¢. Nazev Ks | Poz | Objednaci &. Niazev Ks | Poz | Objednaci ¢. Nazev Ks
1 | CG260E-CE.1.1 | hiidel hnaci 1 | 22 [GB9074.4 Sroub M5x16 1 43 [ CG260.2 sestava plynu 1
2 | CG260E-CE.1-1 | pouzdro 1 | 23 |CG305F.11-1 |nuz 1 | 44 | CG305F.13-5 spona 1
3 | CG260E.1-1 trubka pienosu 1 | 24 |CG230E.3 hlava strunova 1 | 45 |CG305F.13-6 pouzdro 1
4 | GBT9074.13 | Sroub M5x25 2 | 25 | CG230E-1 madlo 1 | 46 | CG305F.13-4 téleso P 1
5 | CG260E-6 drzak 1 | 26 |GBT5782 §roub M6x40 1 | 47 | CG305F.13.2 spona 1
6 | CG260E-5 kryt bezpe¢nostni | 1 | 27 | GBT62 matice M6 1 | 48 |CG305F.13-10 |zapadka 1
7 | GBT889.1 matice M5 9 | 28 | GBT97.1 podlozka 5 2 | 49 |CG305F.13-11 | pruzina 1
8 | GBT818 Sroub M5x8 1 | 29 |GBT93 podlozka 5 2 | 50 |CG305F.13-9 pruZina 1
9 | GBT859 podlozka 5 1 | 30 [CG260E.1A spojka kompl. 1 | 51 |CG305F.13-1 pruzina 1
10 | GBT848 podlozka 5 1 | 31 |CG260E.1A.1 | kotou¢ spojky 1 52 | CG305F.13-8 packa bezp. 1
11 | CG230E-3 pouzdro 1 | 32 | GBT893.1 krouzek 35 1 | 53 |CG305F.13-2 packa plynu | 1
12 | CG230E.2-3 | $roub stiedovy 1 | 33 | GBT276 loZisko6202/2RS | 1 | 54 |CG260A-FG-1 | bowdenplynu | 1
13 | CG230E.2-4 | kryt 1 | 34 | GBT8%.1 krouzek 15 1 | 55 |GBT9074.4 §roub M5x25 | 2
14 | CG230E.2-5 | matice 1 | 35 [CG261.1-1 piiruba 1 | 56 |GBT9074.4 Sroub M5x35 | 1
15 | CG230E.3-1 | kryt struny 2 | 36 | CG260E.1A-3 | viko pryzové 1 | 57 | CG305F.13-3 téleso L 1
16 | CG230E.3.1 drzak struny 1 | 37 |GBT9074.4 §roub M5x12 1 | 58 |CG260A-EMC.IB | tlagitkoSTOP | 1
17 | CG230E.3-3 | pruZina 1 | 38 | GBT70.1 §roub M5x25 2 | 59 |CG260.2-1 pouzdro bowd | 1
18 | CG230E.3-2 | civka struny 1 | 39 | CG260E.1A-1 |svorka B 1
19 | CG230E.3-4 |struna 1.8x2500 | 2 | 40 | CG260E.1A-2 |svorka A 1

20 | CG230E.3.2 | kryt pfitlaény 1 | 41 [GBT9074.13 | $roub M6x20 4
21 | CG230E.3.1-1 | matice M8 1 | 42 | CG260E-2 pouzdro 1

-19-



http://www.a-pdf.com/?product-split-demo

